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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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oth the principal and the interest , after a certain

e e

Com[)ound Interest (Cl) is the interest calculated on

riod of time.
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If compound interest on a certain sum
of.money fo@ears at 16%% pa is Rs

16.90 . While interest being compounded
S—————

annually then Principal is ? I 16

uﬁa&’wza&a:ﬁtrw

fARTa fr W TFaeer su=
16.90 ¥ ¥ | STaf¥ saTer ari® &9

q IHge™ & W@ g, a9 HAud
IdT3T?

(a) 46.é (b) 224 (c) 468
(d) 18.58 (e) None of these
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If compound interest on a
: |
certain sum of money @ 122 %

pa for 2 year is Rs t en
find the Principal.amount? ITg

2 a¥ & favT e ufr
W @ 12- % 9ia a¥ & &

A) Rs. 38450 B) Rs. 20480
C) Rs. 51420 D) Rs. 44150
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If compound interest ofr

on a certain sum._of money
given @ is Rs.@/

then what will be the Principal

amount? Ii¢ T AT iy
W qEY a¥ FT THdey Aol
14%% gRas A T T 120 3

g | ar Fereer AT w41 g7
A) Rs. 735 B) Rs. 840
C) Rs. 514 D) Rs. 441
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The difference between_simplé %
interest and compound interest |2 \y{s* A
S\= 20V 2%

of_a certam sum of money at

per annum _for 24ears is Rs <
s:qf2 | b @ | @ 4

1.)Then the
15% Y9I U 9 ~
fafRaa ofr & R sa= \ L\o\”/q/l
mwma:m
a7 54 § B qE ¥
/

FAT & ?
A) Rs. 3680 B) Rs. 2400
C) Rs. 1400 D) Rs. 1170
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If the difference between the

compound interest and the
"_Qfé)ﬁy T

simple mterest on a certain sum

e —
for 2 yr at 18—% per annum is Rs YA /\
72. then the sam is ? If¢ 2 AT L

S
¥ v ofy af 18°% W = -
AfYaq TfRr & WURT O <\ \«%\M@

AR THgE® s F @ #wO[uLC A 0\

I 72 ¥ g1 9% Ho R F24T

?
| 5
A). Rs 2800 B). Rs 2048 W/

C). Rs 3420 D). Rs 2250
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3.0

If the difference between the compound s Lo
interest and the simple interest on a S\= A

certain sum for 2 yr @14% %pa for 1st 9‘6*3/ 7 '8
year And @ 15% per annum for 2nd year 29 . 23
is Rs. 300. then sum is ? IT¢ 9ger a¥ & =

T 14> % i af iR q@y af &
v @ 15% vfd a¥ @ fRw v 2
a¥ ¥ AT THaeY suer 3R
ST & dg # FaW & faw 300
gl a Fer T F4T 87

A). RS.50000,  B). RS.15000 C).
RS.14000.” D). RS.15250
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Find compound interest

on Rs. 14580 at G

per annum for 1 years @

W compounded
annually? 1 a¥ 73 fe=

ﬂ:fatrn—%uf?fai
T T W 14580 3]

W IHIEY AT A
foA?

A) 1980 B) 2820
C) 1709 D) 2109
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&\

sum of money at(15%/per annum 20 N
for 1 year

—— -_.__-/
compounded annually. Find the

sum of money ? 39X 1 "I 4
Aol & AT 15% 9fa a¥ &y

A) 16000 B) 8000
C) 15000 D) 18000






